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Fk(n)=2Fx(m)+Fx_1(n—m)

Towers of Hanoi M.Claus Lucas 1883
DeParville 1884 Benares

64
64

2% _1



@ n 1,2,3...,n
(b) m
m k k-1
n-m k m
n- m m
(©) Fk(n) k n
Fx(n)
(d) Px(n,x) k n X
3 n
F3(n) 2"-1
Pk(n,Xx)
Fs(n)
n 11213 4 5 6 7 8 9 10 11 12 13
Fa(n) | L | 3| 7 | 15| 31 | 63 | 127 | 255 | 511 | 1023 | 2047 | 4095 | 8191
Fa(M | 1] 2] 4 8 | 16 | 32 | 64 | 128 | 256 | 512 | 1024 | 2048 | 4096




Ps(n,x) X n X 4
6 2 P3(4,6)=2
nX123456 8191101 M2 MAB6 7V 8RE 24 2712 8 B (
1 |1
2 1121
3 |1/2|1(3|1(2
4 |1(/2]1|3|1|2 41112113121
5 [1|12]1|3|1]|2 112(1|3|11(2|1(5|1|2|1|3|1 4 113(1|2
1 2
22 3 8 2 4 16 2!
P3(n,x)
1 if x=2",+1,t, e NU{0}
if x=2%,+2,t,e NU{0}
3 if x=2%3+4,t;e NU{0}
Ps(n,x)=1:
joif x=2lt;+27 t; e NU{O}
n if x=2"1
. . _oil
x=2lt;+2/7 X tJ:X 2,
2
t] P3(n,X)
1 it X_—l}_x_—l
2 2
X—2| X-2
2 if —22 }:—22
3 if | x— 22 _x=22
TR TS
Ps(n,x)=4: . (1)
: x-271 | x-2i?
jif . = .
2! 2
. x-2" | x-2"t
n 1 2n = 2n




(1) Ps(n,x)
n
€)] m 1~m
(b) n-m m+1-~n
(© @ 1~m
5 Stepl~Step 6
1,23 Step6~Step 9
4 5
Step 9~ Step 14 1,2,3 4 5
13
1
2 2
3 3 3
4 4 4 4 4 2
5 ‘5 1| ‘5 2] 1 5 3 2] 1 ‘5 3 1
Step 1 Step 2 Step 3 Step 4 Step 5
1 1 1 1
4/ 2 2 2 2 4 2 4
5] 3 5] 3 4 3 4] 5| 3 5] 3 11 5
Step 6 Step 7 Step 8 Step 9 Step 10
1
2 2
3 3 3
4 4 4 4
2l 3 1 5] 2 1] 5] 1 5] 5
Step 11 Step 12 Step 13 Step 14
5



Fa(n)=F4s(m)+Fz(n—m)+F4(m)
=2F4(m)+F3(n-m)...... 2

n(neN) 2 n t=
m 2F4(t)+F3(n-1t) Fa(n)

Fa(n)= Orptign{ 2F4(t)+F3(n-1)}
tez

Fa(n)

2 1 2 2 22 3 291 g

Fa4(n)

S=1x2° + 2x 2" + 3x22 +  + qx27" ... (*1)

2S,=1x2" + 2x22 + 3x 22 +  + (q-Dx27" + gx2 ...... (*2)
(*1) (*2)

-§=2"+2"+22+ + 29— qgx2°

o 29-1
2-1

S=(@-Yx29+1 ...... (*3)

—qx20= 1-q)x29-1

m Fa(n)
n 1/12|3|4 5|6 |7 8|9 |10|11|12|13 |14 (15|16 |17 |18
0 1] 2 314 1|5 6 | 7181|9 10| 11| 12
m 0 1 1 2|3 3 4 | 516 6 7181910 10 11|12 | 13

Fs(n) | 1| 3| 5|9 |13]17]25|33|41|49|65|81|97|113|129|161|193|225

Fa(n) 1122|4448 |8 |8|8|16|16|16|16|16|32|32]|32




Rq:[n_ . tszq:(n—MJXZq ...... (*4)

(*3) (x4
Fa(n)=(g-Dx27+1 + (n—@szq

- 2Q(n—M—1j+1
2

9
max{q|n- > t>0 qeZ}

t=1

max{q| q°+q-2n<0 qeZ}...... (3
g°+q-2n<0
e 1eviven
2 =4= 2
® q
o= {—1+\2/1+ 8n } I
Fa4(n)
Fa(n)
k=4 n
Fa(n)= 2Q(n——Q(q2_l) —1j+1
{—1+V1+8n}
|l I




m m n g
n m
n=1 3 6 10 m n
n:1+2+3+...+q:@
m
m:1+2+3+...+(q—1):w
n=15 =1+2+3+4+5 m 10 =1+2+3+4
m (2 15 m
2F4(m)+F3(15-m) F4(15) m
2F4(1+2+3+4-1)+F3(6)=145...... (2.2)

2F4(1+2+3+4) +F3(5)=129...... (2.2

2F4(1+2+3+4+1)+F3(4)=145...... (2.3)

(21) (220 2F,
2F4(1+2+3+4)-2F4(1+2+3+4-1)=2.22=2*
Fs
Fa(6)-Fs(5)=(-D- (-9 =2°

(2.2) 2.1)
22) (23) 2F4

2F4(1+2+3+4+1)—2F4(1+2+3+4)=2.2*=2°
Fs
F3(5)-Fs(4)=(°-)-(2*-) =2"

(2.2) (2.3
(2.2 m m=1+2+3+4=10

F4(15)=2F4(1+2+3+4)+F3(5)=129

7



nN=1+2+3+..+( m
m=1+2+3+..+(q-1)

m=1+2+3+..+(q-1) n m
2F4(m)+F3(n—-m)

2F4(142+43+..4(g-)-1)+ F3(n—-m+1) ...... (2.9)

2F4(1+2+43+..+(q-1) )+ F3(n-m ... (2.5)

2F4(1+2+43+..+(g-1)+1)+ F3(n—m-1) ...... (2.6)

(24) (25 2F4

2F 4(1+243+..4+(q-1) ) - 2F 4(1+ 2+3+..+(q-D-1)

L R ) L)

2 2
_o. Zq_l(q(q—l)_(q—l)(q—Z)_1j_2q-z(q(q—1)_1_ (q—2)(q—3)_1j

2 2 2 2

=2.20% =291

Fs
Fa(n-m+1)—F3s(n-m)= ("™ _1p—(@2"M-1) = 2"

m=1+2+3+..+(q-1) (2.5)

20t m L. (*5)
(25) (26) 2F,

2F (14 2+ 3+ ..+ (4= +1) - 2F 4 (1+ 2+ 3+...+(q-1) ) =2. 29" = 21

Fs
Fs(n-m)-Fs(n-m-1)= (2"™-1)—(2"™1-1) = 2™
(2.5)
20> nmt (*6)
(+5) (x6)

2nfm71< 2q < 2nfm+1

8



g=n-m

n=m+qg=1+2+3+..+(q-1)+q
n=1+2+3+..+( m 1+2+3+..+(g-1)=n—-q

nN=1+2+3+..+(Q m n-q-1 n-q
n=11 g=4 m 6 =11-4-1 7 =11-4
2F4(m)+F3(11-m)

2F4(5)+.F3(6):89
2F 4(6) +F3(5)=65...... (2.7)
2F4(7) +F3(4)=65...... (2.8)

2F4(8)+ F3(3)=73

(27) (28) 2F4 Fs 2
(2.7) (2.8) m 6 7
m

1. n=1+2+3+..+(Q m

m=1+2+3+..+(g-1) =n—q
2. n#xl+2+3+..+(¢ m

m=n-g-1 n-q

k=3 Ps(n, Xx) n
k=4
n X P4(n,Xx)
Ps(n,Xx)
n—-m




Fs(n)=2F4(m)+F3(n-m)

P4(n,X)

P,(m,Xx)

P,(n,x) = P3(n—m,x— F4(m))+ m

w

(2)

=2QFs(m)+F3z(m-m))+Fs(n—-m)

if 1<x<F,(m)

if Fy(m+1<x<Fy(m)+Fsz(n—m)

P4(n,X)

P4(m,x— F,(m) - Fg(n—m)) if Fy(m)+F3(n—m)+1<x<F,(n)

Ps(n,Xx)
1 7
P4(n,x) X X X
4 6 3 P4(4,6)=3
1/2|3|4|5|6|7|8|9|10(11|12 14 16|17(18|19|20 |21 2412 %
1 |1
2 1121
3 |1/2|3|2|1
4 |1(2|1|3(4|3|1|2]|1
5 |1|2|3|2|1|4|5|4]1|2|3]|2
6 [1|2|3|2|1|4|5|4|6|4|5|4 2 2|1
7 |1|12|1(3|4|3|1|2|1|5|6]|5 5 5/1{2(1|3|4 2|1
5
4
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(@ (@ (b)

(b)
V )’
State 1 State 2
State 3 State 4
(@)
@
Y )’
State 1 State 2
| !
State 3 State 4
(b) 4 (b)
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(b)

(@ my I~m  m my+1~m,

F5(m1)+F4(mz)+F3(n—m1—mz)+F4(mz)+F5(m1)

2Fs(m) + 2F4(mp) +F3(n—m—-mp) ...... @
(b) m 1~m (b)
Fs(m)+F4(n—m)+Fs(m)

=2Fs(m)+F4(n-—m)
=2Fs(m)+2F4(m)+F3(n—m-m') ...... (b)

m=m m=m (@ (b (b)
@

5

Kk k>5
@ my 1~m my m+1~m

2F(m) +2F -1 (mp) + Fy_2(n—mp—nyp) ...... @)
(b) m 1~m (b)
2Fk(m)+Fx_1(n—-m)
:2Fk(m)+2Fk_1(m()+Fk_2(n—m—m') ...... (b')

m=m m=m (@) () (b)
€Y

12




k 3 4
2Fk(m)+Fyx_1(n—-m)

2Fc(m)+Fx_1(n—-m)
=2Fk (M) +2F k1 (M) +Fyx_2(n-m-n7)
=2F (M) +2F-1(mM) + 2F2(mM") + Fi-s(n-m-m' —m")

(b) k k>5
(@) m 1~m k
(b) n—m m+1~n k-1
(© k @ 1~m
5

Fs(n)=Fs(m)+Fs(n-m)+Fs(m)
=2Fs(Mm)+F4(n—-m) ...... 4)

n 4 n t=m
2Fs(t) +Fa4(n-1) Fs(n)

Fs(n)= Orpti?n{ 2Fs(t)+F4(n-1t)}
t_eZ

m Fs(n)

13




(+6)

tt+2 50

2

n-—
t

q

q
=1

§=1x2° + 3x2" + 6x2° +  +

2S5,=1x2" + 3x2% + 6x2° +
(*7)

—§y=1x2° + 2x 2" + 3x2° +

2GS =1x2" + 2x2% + 3x2° +

(*8) (*9)

a@+1)
2

L @00 e 9@+,
2 2

+gx 27t — @x 29 ... (+8)
+qx2% - @x 27 L (*9)

_ 90 Ll 92 L o0l | gy 00 _ Q(q+1)><2q n Q(q+1)><2q+1
S q — —

a_ 2 _
_x(2'-) L9 -0

2-1 2
=2 (g°-q+2)-1...... (+10)
q q q
Ry= n—Z:M x29 = n—EZtZ—EZt x 21
= 2 2 27

14

m Fs(n)
112(3(4|5|6|7|8|9(10(11(12(13|14|15|16|17|18(19(20|21 |22
4,5,|5,6,|6,7, 10,
1,211,223 4514,5, 7,8,18,9,| 9, 10,
0(01/01] 1|12 34| 4 |45 6,7,17,8,8,9, 10 11,
31,34 4 6 16,7 9,10 10| 10 11
89|10 12
F5(n) 13|57 (11(15|119|23|27|31|39(47(55|63|71|79|87|95|103|111(127|143
F5(ﬂ) 11222 |4|4|4|4|4|4|8|8|8|8|8|8|8|8|8|8]|16|16
Fs(n) Fs(n)
Fs(n)
20 1 21 3 22 6 2q—1 q(q + 1)
2
+1 ~ L t(t+1
Fs(n)=1x2° + 3x2" + 6x2° + +q(q—2)><2ql+(n— (2 )szq
t=1




_ (n_ qQ+)(29+1) <z1(q+1)j>< 0
12 4

(n—%q(q+1)(q+2)jx 2% ... (*12)
(*10) (+11)

Fs(n)=2Y(q*-q+2) -1+ (n—%q(qul)(qJFZ))xZq
- 2‘*(n—w+1}—1
6

q
q n—Zyzo

t=1

q
max{q|n—%2t(t+1) >0 qeZ}

t=1

max{q| q®+39°+2q-6n<0 qeZ} ...... (5)

(5) Gerolamo Cardano 1501 — 1576

9°+30°+29-6n=0 ...... (x12)
q
q=y-1  (x12)

(y=-1)°+3(y-1)*+2(y-1)-6n=0

yS_y_6n=O ...... (*13)
y=u+v (x13)

(U+Vv)’-=(u+v)-6n=0

e +vi+(Uu+v)(Buv-1)-6n=0 ...... (x14)
wv+vP=6n 3uv=1 (x14)

Vv x2—6nx+i:0
27

/ 4

6n=+.,[(6n)> ——
X= 21 _ 3+ /9n2—i
27

2

15



y ,#3n+ /9n2—iL +,#3n—,/9n2—iL
27 27

(*12)

(q—(y—ln(q2+aq+b)=0

(*12) g’ +aq+b

5 q [y-1]

q= §/3n+‘/9n2—i +i/3n—,/9n2—i—1
27 27

I

Fs(n)

©)

Fs(n)

k=5 n

Fs(n)= Zq(n__q(q26+5) +1]—1

2 1 3 _ 2_i_
q_.[J3n+/9n-§?+J3n J9n > 1] I

P4(n,x) Ps(n, Xx)
Ps(n, x) m n

H

q
nzzt(tgl):gq(q+l)(q+2) ...... (+15)
t=1

m

q-1
m:zgzé(q—l)q(q+l) ...... (+16)
t=1

16




(¥15) (*16)

m:n—M ...... (*17)

n (*17) m (x17) m

m=%q(q+1)(q+2)

m
D -2 2 g+ (a+2
2 2
" a(g+1)
Eq(q+1)(q+2) if n— > 2% q(q+1)(q+2)
P5(n,x)
Ps(m, X) if 1<x<Fg(m)
Ps(n,X) =4 P4(n—m,x—Fg(m))+m if Fg(m)+1< x< Fg(m)+F,(n—m)
P5(m, x— Fg(m) - Fy(n-m)) 1T Fs(m)+F4(n—m)+1<x<Fy(n)
Ps(n, x)
1 9
Ps(n,x) X n X X
6 7 5 Ps(6,7)=5
X11|2(3|4|5/6|7(8[9|101 1121 31 41 5 61 71 81 @ (2 122|23(24|25/26(2
1 1
2 1121
3 112(3|2]1
4 |1(2|3[4|13|2|1
5 1/2|1|3(4|5|4(3|1|2]|1
6 |1(2(3|2|1|4|5|6|5(4|1|/2[|3|2]|1
7 |1(2(3|4|3|2|1|5(6|7|6|5]1|2|3(4|3|2]|1
8 |1/2|3|4(3|2|1|5|6|5|7|8|7|5(6|5|1|23|4|3|2]|1
9 |1/2/3|4|3|2|1|5|6|7|6|5/8|9|8|5/6|7|6|5(1|2(3|4|3|2]|1

17




Fe(n)=2F¢(mM)+Fs(n-m) ...... (6)

(6) n t=m 2Fs(t)+Fs(n-1)

Fe(n)= 0r<nti£1n{2F6(t)+F5(n—t)}
t_eZ

5,6, | 5,6,
1,2,11,2,|11,2, 5,6,| 5,6,
1212, 2,3,13/4, 5,6,(5,6, 78,78,
m 01(01{01|01| 1 (12 34,|34,|13,4, 451 5 |56 78,178,
3134 45| 5 7178 9,10,|9,10,
5/5]|5 9 (9,10
11 11,12

Fe(n)| 1|3 |5|7|9|13(17|21|25|29|33|37|41|45|49|57|65|73|81| 89 | 97 |105

Fs(n)

Fe(n) Fe(n)
Fe(n)
20 1 ol 4 22 10 ou-1 q(g+D(q+2)
6

Fo(n)=1x2 + 4x2' + 10x22 + + XAV | 50s

+ (n—i%t(Hl)(HZ)Jqu
q n-— i%t(t+1)(t+2) >0

S = 1x2° + 4x2' + 102 +  + —q(q”é(q”) x 20t

18




28, =1x2' + 4x2° +10x2* +  + —(q_l)g(q”) x 207

N q(q+1é(q+ 2) o

(+18) (*19)

-5 =1x2° + 3x2' + 6x2% + +@x2“‘1

_9@+1(+2) (+20)
s X2

(*10) pl4
1x2° + 3x2' + 6x2° +  + wXZ‘H = 2"(g*-q+2)-1
(*20)

S = 2t -q+2)-1- q(q+1é(q+2) 0

s =%q(q+1)(q+2)x2q (P —qt+2)x 27 41 ... (+21)

. q 1 q 1 q 3 1 q ) 1 q q
Ry = (n—t_lgt(t+1)(t+2)]x2 = (n—EZt _Ezt —§thx2

t=1 t=1 t=1

[ 9@+D)® a(@+D2q+D) k(k+1))
24 12 6
1 . .
= (n—ﬂq(q+1)(q+2)(q+3))x2 ...... (*22)

(x21) (x22)

Fe(n)= %q(q+1)(q+2)><2q —(F-g+2)x2%"+1

+ (n—2—14q(q+1)(q+ 2)(q+3)j x 29

_ 2q(n_(q—l)q<(f+3q+14)_1}1
24

q
q n— %t(t+1)(t+2) >0
=1

t

max{ q|n— i%t(t+1)(t+2) >0 qez)

t=1

19



max{q| q*+6q°+11q° +60—-24n<0 qeZ} ....

(7)

q"+60°+110° +69—24n<0 ...... (*23)
3
—y- 2 23
a=y-5 (2

y4—gy2+f%—2m1£0 ...... (x24)

5 2
(yz——J <24n+1

4
(yz—g+\/24n+1j(y2—%—\/24n+1js0

y2—%+\/24n+1 n>1
(x24)

yz—g—\/24n+1s0

—/§+J§E:ESyS 2+ V2in+1
5 3 5

- Z+\/24n+1—§£qs Z+\/24n+1—
™ q

N w

5 3
q:{/Z+sz:1_§}

I

Fe(n)

20



Fe(n)

k=6 n

Fo(n) = 2q(n_(q—l)q(oﬁ+3»q+14)_1j+1

24

1 1
n= Eta+Da+2):§Zq«H4ﬂq+2Xq+$

q
t=1

g-1
m=

ol

(D E+D == (@-Da(a+H(a+2

—

=1

3 4 5 6 n m

k=6 n m n m

n=o-a(@+)(a+2(a+3

m-—-(@-99(a+3(a+2)
Fe(n)=2F¢(m)+Fs(n—m)
n-m=2q@+1(@+2)(a+3---(a-Da(@+H(a+2

Zq:t(t+1)

1
== 1 2) =
6q(q+)(q+) 27

Fs(n—m)

Fs(n—-m)=2Fs(m)+F4(n—-m-nY)

21




g-1
=D -2 q-na@+
t=1

n—m- = %q(q+1)(q+2)—%(q—1)q(q+1)
_a@+y <~
2 L

Fs(n-m)

Fa(n—m-m)=2F4(m")+Fz(n—-m-m-m")

=

9= _
O S C ]
t=1 2
k=6 n m
31
n=15 :th(t+1)(t+2) m 5 Fe(15)
t=1

Fe(15)=2Fs(5)+ F5(10)
=2(2Fe6(1)+Fs(4)) + (2Fs(4) + F4(6))
=4F¢(1l)+4Fs(4)+F4(6)
=4F6(1)+4(2Fs(1)+F4(3)) + (2F4(3)+F3(3))
=4F¢(1)+8Fs(1)+6F4(3)+F3(3)
=4F6(1)+8Fs(1)+6(2F4(1)+F3(2))+F3(3)
=4F¢6(1)+8Fs5(1)+12F4(1)+6F3(2)+F3(3)

6 15

Fe(15)=4x1+8x1+12x1+6x(2°-1)+2°-1
=49

3 4 5 k=3 4 5

22



5849

4 5 6
4 18433
307.2 5
64
5 6
1.
2. 7 k>7
3.
F3(64) F4(64) Fs(64) Fe(64)
k 3 4 5 6
Fx(n) 2%-1 18433 1535 673
5849 307.2 25.6 11.2

[ 1]

[ 2]

2003

1992
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Ps(n, Xx) maple

T3:=proc(n)
2™"n-1;
end:

p3:=proc(n,x)
local i;
for 1 from 1 by 1 to n do
it ( Ffloor( (x=2~(i-1))/2"1 )=(x-2~(i-1))/2"1)
then break end if;
end do;
return i;
end:

L3:=proc(n)
local 1;
for 1 to f3(n) do

print(p3(n,i));

end do;
end:
[ ]
3 Fs(n)
p3 n X Ps(n,Xx)
L3 n 3 L3(n)

24



n t=m 2F4(t)+F3(n-1t)
Fa4(n) maple

T3:=proc(n)
2™"n-1;
end:

min_f4:=proc(n)

local i1,a,b,c;

c:=0;

for 1 from O to n-2 do

iT (c=0) and ((2*F4[i+1]+Ff3(n-i-1))=2*F4[i]+F3(n-1)))

then a:=i;c:=1;

elif ((2*F4[i+1]+F3(n-i1-1))>2*F4[1]+F3(n-i)))

then b:=i;break end if;

end do;

return [a,b,2*F4[1]+F3(n-1)];

end:

list_f4:=proc(n)

local i;
global T4;
T4[0]:=0;

for 1 from 1 to n do
fA[i]:=min_Ff4(i)[3];
print(i,min_f4(i)[1],.min_Ff4i)[2],F4[i]);

end do;
end:
[ ]
min_f4 ngk{2F4(U-rF3(n—t)}
tez
list f4 i=1 2 n i m m Fa(i)

25



Ps(n,Xx) maple

T3:=proc(n)

2"n-1;end:

p3:=proc(n,x)

local i;
for 1 from 1 by 1 to n do
it ( floor( (x-2~(i-1))/72"1 )=(x-2~(i-1))/2"1)
then break end if;
end do;return i;end:

T4:=proc(n)

local q;
gq:=Floor((-1+sqrt(1+8*n))/2);
2M(g-1)*(2*n-g"2+q-2)+1;end:

p4:=proc(n,x)

local m;
m:=n-Floor((-1+sqrt(1+8*n))/2);

IT (1<=x and x<=f4(m)) then p4(m,x)
elif (fA(m)+1<=x and x<=F4(m)+F3(n-m))
then p3(n-m,x-f4(m))+m

elif (FA(m)+F3(n-m)+1<=x and x<=f4(n))
then p4(m,x-f4(m)-f3(n-m))

end if;end:

L4:=proc(n)

local 1;

for 1 to f4(n) do
print(p4(n,i));
end do;end:

L4

n 4 L4(n)
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n t=m 2Fs5(t)+F4(n—-1)
Fs(n) maple

T4:=proc(n)
local k;
k:=Floor((-1+sqrt(1+8*n))/2);
27N (k-1)*(2*n-k"N2+k-2)+1;
end:

min_f5:=proc(n)
local i1,a,b,c;
c:=0;
for 1 from O to n-2 do
iT (c=0) and ((2*f5[i+1]+F4(n-i-1))=2*f5[i]+F4(n-1)))
then a:=i;c:=1;
elif (2*f5[i+1]+F4(n-i-1))>2*f5[1]+f4(n-i)))
then b:=i;break end if;
end do;
return [a,b,2*f5[1]+F4(n-i)];
end:

list_f5:=proc(n)

local 1i;
global f5;
5[0]:=0;

for 1 from 1 to n do
5[1]:=min_Ff5(i1)[3];
print(i,min_f5(i)[1],.min_f5(i)[2],Ff5[i]);

end do;
end:
[ ]
list 5 i=1 2 n i m m Fs(i)
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Ps(n, x) maple

T3:=proc(n)
2"n-1;end:

p3:=proc(n,x)
local 1i;
for 1 from 1 by 1 to n do
it ( Floor( (x=2~(i-1))/2"1 )=(x-2~(i-1))/2"1)
then break end ifT;
end do;return i;end:

T4:=proc(n)
local q;
gq:=Floor((-1+sqrt(1+8*n))/2);
2M(g-1)*(2*n-g"2+g-2)+1;end:

p4:=proc(n,x)
local m;
m:=n-floor((-1+sqrt(1+8*n))/2);
IT (1<=x and x<=f4(m)) then p4(m,x)
elif (f4(m)+1<=x and x<=F4(m)+F3(n-m))
then p3(n-m,x-f4(m))+m
elift (FA(m)+F3(n-m)+1<=x and x<=Ff4(n))
then p4(m,x-f4(m)-f3(n-m))
end 1f;end:

T5:=proc(n)
local q;
q:=Floor(evalt((3*n+(9*n"2-(1/27))™N(1/2))N(1/3)+
@B*n-9*n™"2-(1/727)Y)N(1/2)H)N(1/3)-1));
27g*(n-g*(g"2+5)/6+1)-1;
end:
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p5:=proc(n,x)
local m,q;
q:=Floor(evalt((3*n+(9*n"2-(1/27))N(1/2))N(1/3)+
@G*n-O*n2-(1/727))N(1/2))™N(1/3)-1));
if (n-g*(g+1)/2 < gq*(g+1)*(g+2)/6)
then m:=n-q*(q+1)/2
else m:=g*(gq+1)*(q+2)/6 end if;
IT (1<=x and x<=f5(m)) then p5(m,x)
elif (f5(m)+1<=x and x<=F5(m)+f4(n-m))
then p4(n-m,x-f5(m))+m
elift (F5(m)+F4(n-m)+1<=x and x<=f5(n))
then p5(m,x-f5(m)-f4(n-m)) end i1f;end:

L5:=proc(n)
local 1;
for 1 to f5(n) do

print(p5(n,i1));end do;end:

L5

n 5 L5(n)
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n t=m 2F6(t)+Fs(n—-1t)
Fe(n) maple

T5:=proc(n)
local q;
q:=Floor(evalt((3*n+(9*n"2-(1/27))™(1/2))N(1/3)+
B*n-9*n™"2-(1/727)Y)N(1/2)H)N(1/3)-1));
27g*(n-g*(g"2+5)/6+1)-1;
end:

min_f6:=proc(n)
local i1,a,b,c;
c:=0;
for 1 from O to n-2 do
if (c=0) and (2*F6[i+1]+F5(n-i-1))=2*f6[1]+F5(n-i)))
then a:=i;c:=1;
elif ((2*f6[i+1]+F5(n-i1-1))>2*f6[1]+f5(n-1)))
then b:=i;break end if;
end do;
return [a,b,2*f6[1]+f5(n-1)];
end:

list_f6:=proc(n)
local 1;
global f6;
6[0]:=0;
for 1 from 1 to n do
fe[i]:=min_f6(i)[3];
print(i,min_fe(i)[1].,.min_fe(i)[2],f6[i]);

end do;
end:
[ ]
list_f5 i=1 2 n i m m Fe(i)
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